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M.V.D, Samaj Nashik
College of Social Work, Nashik

Marks - 100
Note : All questions carry equal marks,
L. Sam asked me to keep this secret o
1) secret b). in mysel( ¢) amongs us d) between us
3 Antoayms of “STARTLED" | "
) Relaxed b) Amused ¢) Astonished d) Endless
3. He hopes to join ____university soon
a) An b) A ¢) The d) no article
4. Choose the altermative which best expresses the meaning of the idiom/phrase.—
To catch Lartar"
%) To trup wanted criminal with great difficulty
b) To catch a dangerous person
¢) To meet with disaster
d) To deal with a pérson who is more than one's matel
3. The neighbour grabbed the boy, and rolled him on the road 10~ the flames.
a) Cover by kill ¢) bum out d) fizz out
Mathematics
6. Inthe series 357,363,369,.... what will be the 10th term?
a) 405 by 411 chdl3 dy 417
357,363, 369, ...... T 3 A oeleT ZgTaT He AT IRT?
a) 405 b) 411 c}413 d) 417
7. Simplifyrrfisr w1 - 8888 + 888 + 88 + 8
a) 9999 b) 9872 ¢) 10,000 d) 9870
8.  The calendar for the year 2007 will be the same for the year;
a) 2018 b) 2017 c) 2016 d) 2014
QYT orear auie FeEt 2007 1 asvad
a) 2018 b) 2017 ¢) 2016 d) 2014
9. Which one of the following numbers in completely divisible by 997
Qe BT FEART 99 F qoF ST S 7
a) 115929  b) 115939 ¢) 115919 d) 113900
10.  How many of the following numbers are divisible by 132 ?
264, 396, 462, 792, 968, 2178, 5184, 6336
8)7 b)9 c)d d) 6
QETIT el HETT 132 # I Sifar?
264, 396,462, 792, 968, 2178, 5184, 6336
a)7 b) 9 )4 d) 6

Aptitude Test

11) Tutu pays 60% of his salary as house rent, 15% of salary as loan instalment and he still saves Rs.

900 after spending Rs. 1,800 on other household goods. What is his salary in Rs?
T AT SITRTAIS 60% BREHTS, 15% SR Fatrall §51 FeU[ el 307 3o YR TR
1,800 52 08 1 % 900 Areraelt e o Rveh ) a9 e

2) 2,700 b) 8,100 ¢) 10,800 d) 13,500
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Kama p itin 2 hﬂl.ll'ﬁ, whil
do Wwo  Dorbi and Sonal tuucll:.r'cﬁn do . ;
k. K WS Bu:n?imimri E::h:?."f hours, How long will Dorbi alone take to do it7
i an

ﬂmmamﬂamnﬂ:ﬂmmwamwmwm
Ty et 3 eTRTe o araverer e s o Tt

d) 4 hour
n) | hour b) 2 hour ¢)3 hour I
13) [TJ?W were asked to list down all the numbers between 1 to 100. How many times would you wy;,
the number 27 ;
) 20 times b I8 times ¢) 19 times d)2] times .
SR TS 1 &Y 100 7w 3 Frward) ard) svame Bifaeral e oY gl e 2 el 4
Fevgrere
1) 03B bigdw )19 & d) 2131

14) There are 20 chickens, 4 dogs and 8 horses on o farm, How many legs are there?
mqﬁmzuﬂﬁw.qﬁaﬂﬁma‘f&m. o wae el o Hrga?

a) 88 b) 98 ¢)78 d) 108
15) One million thirty six thousand and eight hundred secones on the watch would make
a) 1.5 days b) 7 days ) 10 days d) 12 days

UFURIENN U G378 Teel Ft 739 g, et faw g,
)l faw b)7 REw c) 10 Raw d) 12 Raw

16) Which of the following pairs are equivalent rafios?
a) 1:S and 1:10  b)2:5 and 4:10 ¢)2:5and 2:10 d) 1:6 and 2:6

mﬂmmmmmm
a) 1:5 3007 1:10 b) 2:5 3 4.10 gusor2io  dy1-63nfr2s

I7) In a class of 8 students, the test scores are 10, 20, 15, 25, 30, 15, 25, 36 out of 50 in Geography.
What is the average score of the class?

8 faczreitear aufie spner Rweite areh aor 504 10, 20, 15,25, 30, 15, 25, 36 36 .
e FRrdt a7or el s

a) 20 b) 21 c)22 d) 25
18) Find the missing lctter in the sequence: FK OR T &

g R Sl 3t el FKORT

a)s b)T c)U d)yv

19) How many Kilograms will be equal to 45 Tonnes?
a) 45 Kos b) 450 Kes ¢) 4500 Kgs d) 45000 Kgs
45 T raria fd sraden

a) 45 fRaiA  b) 450 Rreire ¢) 4500 TFafE  d) 45000 BT
20) What is the missing letter in this series? g d jjd k] d

S R STt JeRaier ¢ 4 jdkld

a)e b) f c)e d}h

o g% " = . [1)



General knowledge et
21) Golden temple is siwated at, ¢

A). Delhi B)Haryana C) Amritsar D) Pune
e AR Wity v 3k
AR B, gfamn C. I D. g%

22) Durand Cup is associnted with the following game .
A) Crickel B) Football C) Hockey D) volleyball
0TS W WA Hrorear drasneh Hafla e _
A SR B. peafe C. g p, afefrate

23) C.B.1. Stand for- e
A) Central Bureau of Investigation B) Central Bamboo investigition

C) communal Bureau of Investigation D) None of this above.

Ardr R gt 3w,
A EaR HewRToRE BT (g Frarer I
CAwg S 3 Frarai D, aiate ATeL.

24) India's first satellite is—

A) Aryabhatta  B) Bhaskam 1 C) Bhaskara 2. ) Krishna

ST 9 39aE-—

A) ¥R B) WERT1 C) A& 2 D) F=om
25) Which country is a largest democracy in the world

A) England B) Russia C) France D) India

ST T A S FIOT &R HE

AFTAS B. I C. Wil D. §RA

Social Science

26) Which of the following is the correct way [0 make leaming effective

A] To provide motivation B] To give incentive

C] To give punishment D] Used new teaching method

ST TR FOGTATA ATy ST S0 A e

2] o WA F 7] FeTE a0 =] firer &0 2| A1 foraaTeT TET Ayt
27) Psycho-analytical theory of personality development was introduced by-

A]Karl Jung  B] Sigmund Freud C] Guilford D] Harman rosarch
ST FrR T AT - O (iq———iT HISH,
A] T T |z wizs CfimwE D) g dE
28) Development of human being is influences by-
A] Parents and Teachers B] Psychosocial and Culture factors
C] Parents and Relatives D] Heredity and Environment
AT T Coemne e AT T HE.
o) ST St firern ) ATATHITE (0w 2
F) YT A ATAATES =] AT o ST St
29) The term used to refer the first two weeks of life is -
A The period of infancy B] The neonatal stage
C] Early childhood D] Preoperational stage
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sy gigwn #oT TR -

Rt szt et AwrATE? ATYCHT AT

A] CEITYENT WIS B) AT S cmmm:w D) TR vy gy
30) What is another name of the westem ghats in Maharashtra

A] Nilgiris 18] Sahyadris ('] Cardamon Hills D] Annamalyj
wgrengrfte e wrarst gut Ay v amg?
A| Ruafardt Rl ) St dee D] sramaTe

1) Severe Cyclonic Stpnm - was the strongest tropical cyclone to strike the Indian site
of Maharashtra in the month of June since 1891, SR
A] Amphan B] Nisarga C) Harold ) Ama Seor
1891 s 3 wefgmr et ey orvarere e b ot ey
it sl oy
Algssm ) fad C| #ree _ D) #mrer

32) Arrange the following states of India in descending order of their geographical area:
1. Andhra Pradesh 2, Madhyn Pradesh 3 Maharashtra 4.Uttar Pradesh
Choase the comect option from the codes given below:
AlL3 2,4 B]2,1,4,3 C]2,3,4,1 D] 1,4,3.2
wTeATt Wt ot syrsar st Serrsar g s Sied
1. ST W 2. W w2 3 WP 4,39 w2y
wTR e Ty waty fe
Al 3,3, Y Bl %, ¥, 3 Cl%, 1, ¥, 1 DI, v 3,3

33) Which one among the following Indian nivers originates in Mabarashtra and flows

a and Andhra Pradesh and drains into the Bay of Bengal in Andhra coast?

A] Godavari B] Krishna C] Mahanadi D] Narmada
wwmmwmmmmmmm@mm
A) WrRTEEY B] gy C) 7Tt D] et
34) Maharashtrs is bordered by how many states?
A} Four B] Five C] Six D] Seven
FRTCTETET Rt T A i
Al W T B w19 C) Her D] &
35) Who is the leader of the Parliament?
A) President B) Vice President ) Prime Minister D) None of the above.
36) WHLET Aar Fror 3
A) TEEgHY B) 3urtarey C) IawtT . D) St ol andy
37) Which defines the set of rules to govemn country?
A) Preamble B) Sovereignty C) Constitution D) None of these
,1.m=mmmmammﬂﬁmimﬁagﬂmﬁaﬂwm:
A) TEaTST B) wastaw C) wfaus D) Ay vady sy

38) Whlar:ﬂ:eFun&mu]Righlsmnﬁdadhyth:Cumﬁminnuflndin?
A) Right to equality B) Right to freedom C)Right against exploitation D) All of the above
Emmmwmmﬁm
A) FAGOT HOFT B]ﬁm‘mmalﬁrﬂrcumvnﬁqmmmﬂ&
!9} Which court issue the Writs?
A) District Courts B) Panchayats
C) Civil Courts/Criminal Courts D) Supreme Court/High Courts

4)



) et
ol PRTUTRRL IS Fararerd) 1) wabew sararey
i Re hﬁllllsﬂu system? bnlai
a ) Secoid C) Third
g v Rl s iy il
3 B) e )it Dy

ﬂ‘lhe following will not be considered s Primary group?
am B) Peer Group () Neighbourhood D) Crowd
R SRHOTAT 31 e ave st aroran s e
B) vy saad C) e D) ardt

Al wbmk "Sulcide™ was written by
NE: mmm B)Plato  C)Adam Smith ) None of the above

ﬂmm B) =Y o) demfemy D) adetdr s ad

43) Social theory tells us how to
 A) Visualise lh: social universe B) Visualise the culture of society
C) Leam the history of universe. D) All of the above

wrTo R e e A G
A) AT RRER SO ST B) WA HEpA Heden #ll

) Revara e SV . D) afiw ¥

i 44) rmmirmmﬂisndlmnieﬂsﬂc feature of-
| A) Agrarian society  B) Urban society C) Industrial society D) Post-industrial society

i wieen & v ey A -
A) F B) wEl A C) 3eifiv FH= D) artthy it ATEt
45) Mahatma Gandhi Launched Kheda Satyagraha on Gujrat in 1318 to support the

cause of
A) Mill Owners B) Land Lords  C) The Peasants D) Kol Rebellion

mmtqrcmmmwmq:mmmmmv

L el A b) SRl A@E  c) VR dFd 43
| mmwwmmmmmemr

2)1982 b) 1872 c) 1884 d) 1892
A, 3fiE o A I Fe =T
| g)rea _ b) tee c) recy d) 13 .

- 'wm I'llm Vande Mataram??
g b) Rabindranath Tagum
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